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RZEZ-5—-H—H 200 9 - 43 50,832 = 51,084
BTG 23 1,200 58,800 - - = = 60,000
BRLETRS 23 3,400 (3,400) = = = - -
ROETER 23 - (13,09) - - - - (13,096)
METHREFZEMHAT 14 - - 1,690 = = = 1,690
ARERERRZBANREREFE - - 1,690 - = = 1,690
RER MM - - - - 50,088 - 50,088
HER S 12 - - - - (6,000) = (6,000)
BRARHRE 12 - - - - (9,600) 9,600 =
BRELTHESS 25 - - - 306 (306) = =

“£%-%—-Hf—-H 4,800 42313 1,690 349 85,014 9600 143,766
EERRARE 12 - - - - - (9,600)  (9,600)
BTR 23 9,600 (9,600) = = = = =
BEERRERE 23 = 2 = = = = 2
METHREFZEMHE 14 = = (329) = = = (329)
AREBRRER

B REEFE = = (329) = = = (329)
KE[F A - - - = 62,363 = 62,363
BRARESRE 12 - - - - (1150 1,50 =
BREETHELS 25 - - - 642 (642) = =
RZEE-_F+-A=1+—H 14,400 32,715* 1,361* 991*  135215%* 11,520 196,202
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